Enterprise Industries produces Fresh, a brand of laundry detergent. In order to more effectively manage its inventory and make revenue projections, the company would like to better predict demand for Fresh. To develop a prediction model, the company has gathered data concerning demand for Fresh over the last 16 sales periods (each sales period is defined to be a four-week period).

The variables assigned for this problem are:

Y=the demand for the large size bottle of Fresh (in hundreds of thousands of bottles) in the sales period.

Part A 
Analyze the above output to determine the multiple regression equation.

Part B  

X1=the price (in dollars) of Fresh as offered by Enterprise Industries in sales period.

X2=the average industry price (in dollars) of competitor’s similar detergents in the sales period. X3= Enterprise Industries’ advertising expenditure (in hundreds of thousands of dollars) to promote Fresh in the sales period.

Refer to Table 12C on the Handout for MegaStat output.

 What conclusions are possible using the result of the global usefulness test (F test)?

Part C  

What conclusions are possible using the results of the t-tests of the independent variables (alpha=0.05. two tailed. Does this data provide significant evidence (alpha=0.0) that demand (n hundreds of thousands of bottles) is associated with price (n dollars) and/or average industry price (in dollars) and/or advertising expenditure (n hundreds of dollars? Find the p-values and interpret.

Part D 
Using the table above, predict the demand when the price is $3.70 the average industry price is $3.90, and the advertising expenditure is $650,000.

